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Question Number : 1 Question Id : 953357173249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct about principles of child development?

Options :

1. Development occurs from central part of the body toward peripheries.

2. Development is not influenced by heredity and environment.

3. Development in one domain doesn't have any influence on development in other domains.

4. Development is purely quantitative and can be measured precisely.

Question Number : 1 Question Id : 953357173249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357173250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Language development among children gets influenced by -

Options :

1. genetics only.

2. environment only.

3. genetics as well as environment.

4. neither genetics nor environment.

Question Number : 2 Question Id : 953357173250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=TT O T T e e B B

Options :

1 T ST &
, TS I

; \:‘-f‘\ - na_ © a‘_\lq-:l—__é_

) AT AT & AT T o

Question Number : 3 Question Id : 953357173251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A progressive classroom -

Options :

1. gives primacy to silent listening only.

2. respects individual differences among learners.

3. is marks - oriented.

4. is based on behaviouristic principles of learning.

Question Number : 3 Question Id : 953357173251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357173252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Lawrence kohlberg's theory of moral development "Obeying rules to avoid punishment" represents -

Options :

1. Pre- conventional stage

2. Formal operational stage

3. Conventional stage

4. Post conventional stage

Question Number : 4 Question Id : 953357173252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357173253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to facilitate the learning process, a teacher should use strategies which emphasise on :

Options :

1. the progression of concept from complex to simple.

2. the primacy of convergent thinking.

3. exploring the relationships between different concepts.

4. creating competitive culture among students.

Question Number : 5 Question Id : 953357173253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357173254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's theory mainly focuses on explaining :

Options :

1. the impact of heredity on development.

2. the role of cultural tools in cognitive development.

3. the bio ecological model of socialisation.

4. the impact of attribution pattern on motivation.

Question Number : 6 Question Id : 953357173254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357173255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During a discussion on "Cricket", a teacher is posing questions mostly to boys and not to girls. This act of teacher is an example of :
Options :

1. Gender Empowerment

2. Gender bias

3. Gender relevance

4. Gender threat

Question Number : 7 Question Id : 953357173255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T3hehT” W ATATEATY 3 S, U STEATU SR ST § HaTe D YA 7 ST gk § Te| ST i 9w

Options :
|, SISt TRl

,, SIS U

4, ST STHER

Question Number : 8 Question Id : 953357173256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In a child-centered classroom, a teacher gives importance to -
Options :

1. frequent objective type examinations.

2. active knowledge construction process.

3. completion of syllabus in whatever way possible.

4. strict disciplinary practices based on punishment.

Question Number : 8 Question Id : 953357173256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357173257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is primary agent of socialisation for children?

Options :

1. Books and magazines

2. Immediate family

3. Parent's work place

4. Staff at hospital

Question Number : 9 Question Id : 953357173257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357173258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Concrete operational stage in Jean Piaget's theory of cognitive development corresponds to the age group -

Options :

1. Birth 0 - 2 years



2.2 -7 years
3.7-11 years
4. Above 11 years

Question Number : 10 Question Id : 953357173258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357173259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You are a teacher who believes that "children learn at varied paces and in different ways". In your class, you will plan assessment which :
Options :

1. is same for all students.

2. includes objective type questions only.

3. is not related to how children learn.

4. is based on different methods of assessment.

Question Number : 11 Question Id : 953357173259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

37T U=, STEITUSF 2 11 19479 F0aT 2 5 <a== T3t mieat o7t STenT-ofeT ai0e & ¥ 27| o779 ST aT o
Options :

| Tt Ferenfefa = form w2
, FEA T T T 1
3. T % HTEH % I § HETd A1

. SR o STETT-SToT TR OT ST

Question Number : 12 Question Id : 953357173260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per Lev Vygotsky's theory which of the following is an effective strategy of scaffolding the teaching - learning process?

Options :

1. Providing rigid step-by step instructions to solve problems.

2. Punishing the children for incorrect answers.

3. Giving hints and cues if children are stuck at some point while solving the problem.

4. Complete non- interference of teacher in the process.



Question Number : 12 Question Id : 953357173260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357173261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about intelligence?

Options :

1. Intelligence can be measured only through Intelligence quotient (IQ) tests.

2. Genetics play no role in creating individual differences in intelligence.

3. High intelligence is one domain ensures high intelligence in other domains also.

4. Intelligence is more than the ability to perform well in school.

Question Number : 13 Question Id : 953357173261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357173262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Seeing a horse, a three year old child exclaimed. "Wow! Such a big dog". As per Jean Piaget's theory of cognitive development , this
response by child is an example of :

Options :

1. assimilation.

2. make-believe.

3. object - permanence.
4. deferred imitation.



Question Number : 14 Question Id : 953357173262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357173263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's ideas Language and thought suggest that -

Options :

1. language guides cognitive development.

2. cognitive development guides language.

3. there is no relation between language and cognition.

4. cognition is independent of language.

Question Number : 15 Question Id : 953357173263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357173264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Creativity among children can be facilitated :

Options :

1. by encouraging exploration.

2. through teacher - centric pedagogy.

3. by drill and repetition.

4. through imitation only.

Question Number : 16 Question Id : 953357173264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357173265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Dyscalculia is directly associated with :

Options :

1. locomotor disability.

2. fluency in understanding other's motives.

3. musical ability.

4. difficulty in learning of mathematical concepts.

Question Number : 17 Question Id : 953357173265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357173266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Right to Education Act (2009) has a provision of Reservation of seats in Privates schools for admission of students from Economically
weaker section (EWS). In order to successfully these students a, a teacher should use pedagogy based on -

Options :

1. discrimination.
2. segregation.

3. equity.

4. equality.

Question Number : 18 Question Id : 953357173266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357173267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an inclusive classroom, information should be presented in :

Options :

1. textual form only.

2. visual form only.

3. verbal form only.

4. multiple forms.

Question Number : 19 Question Id : 953357173267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357173268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to contemporary polices of Education, which of the following is the most suggested model of schooling for children with
disabilities?

Options :

1. Only vocational education

2. Inclusive education

3. Separate education

4. Integrated Education

Question Number : 20 Question Id : 953357173268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357173269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not correct about the learning process?

Options :

1. Learning is a continuous process.

2. Error and mistakes are irrelevant in the process of learning.

3. Learning is based on personal and environmental factors.

4. Learning takes place in a spiral manner and not in linear manner.

Question Number : 21 Question Id : 953357173269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357173270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Repeatedly telling the child that ' he/she is not capable of learning ' is likely to -

Options :

1. demotivate the child to learn.

2. fasten the pace of learning for child.

3. motivate the child to learn.

4. have no effect on child's learning.

Question Number : 22 Question Id : 953357173270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357173271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Problem - solving skills can be enhanced by :

Options :

1. fixating on conventional use of materials.

2. representing problems in standardised format.

3. considering alternative ways of solution.

4. rote memorisation.

Question Number : 23 Question Id : 953357173271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357173272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To teach a concept to students in primary grades, which of the following sequence of representation of content is most appropriate?
Options :

1. symbols, pictures, concrete materials.

2. pictures, symbols, concrete materials.

3. symbols, concrete materials, pictures.

4. concrete materials, pictures, symbols.

Question Number : 24 Question Id : 953357173272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357173273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Classroom environment has a significant on children's learning. To inculcate a culture of mastery oriented learning (learning that focuses
on understanding) , learning, classroom environment should be :

Options :

1. Performance oriented.

2. competitive and individualistic.
3. teacher dominated.

4. cooperative and collaborative.

Question Number : 25 Question Id : 953357173273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357173274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correct statement in content of learning?

Options :

1. Examination is the ultimate goal of learning.

2. Learning is a passive process and it doesn't require engagement of learners.

3. Emotions have no influence on the process of learning.

4. Learning is a complex process which requires active engagement of learners.

Question Number : 26 Question Id : 953357173274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357173275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Socio-Constructivist view of learning emphasise on the importance of in process of learning.

Options :

1. interactions

2. rewards and Punishments

3. heredity only

4. inflexible pedagogical approaches

Question Number : 27 Question Id : 953357173275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357173276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of influencer and source of motivation?

Options :

1. Self - fulfilment — Extrinsic motivation

2. Curiosity — intrinsic motivation

3. Cash prize — intrinsic motivation

4. Interest — extrinsic motivation

Question Number : 28 Question Id : 953357173276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357173277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To facilitate conceptual understanding among students , a teacher should :

Options :

1. encourage students to learn through rote memorisation.

2. not include examples and non-examples in the discussion of concepts.

3. provide opportunities to make connections between what has been presented and what they know already.

4. rely only on lecture method for teaching.

Question Number : 29 Question Id : 953357173277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357173278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following factors influence learning ?

(i) Motivation
(ii) Social content
(iii) Emotions

(iv) Pedagogical approaches
Options :
L (©),(iD), (iv)
2. (1),(iii), (iv)
3. (ii),(iii)
4. (i),(ii), (iii), (iv)
Question Number : 30 Question Id : 953357173278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 953357173279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The rate list of groceries in a shop are depicted as follows:

Rice (1KG) %70
Black gram (1KG) %90
Wheat Flour (1KG) %45
Coriander powder (250g) 40
Chilli Powder (250g) %60
Salt (1 Pkt) X25
Biscuit (1 Pkt) 20

Ashish needs to buy 5kg of rice, 5kg of wheat flour, 250g of coriander powder, 250g of chilli powder, 2kg of black gram
and some packets of biscuit with remaining money. If he is having 1000, how many biscuit packets can be buy?

Options :
1. 8

2, &

4. 10

Question Number : 31 Question Id : 953357173279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 8

Question Number : 32 Question Id : 953357173280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
¢ | am atwo digit number.
e The digit at ten's place is multiple of 2 and digit at units place is multiple of 3.
* The sum of the two digit is a prime number which is a factor of 52.
The number is
Options :
1. 69

7. 46
3. 49

4. 83

Question Number : 32 Question Id : 953357173280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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1,69

2. 4B
3, 49

4. 83

Question Number : 33 Question Id : 953357173281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The rates of hiring a rental car are as follows:

% 800 per 8hours up to 80 km

% 100 per extra hour and %10 per extra km.

Sunil travels from city A to B which is 250 km. He starts at 7:00 am and reaches at 4:00 pm on the same day
How much money he has to pay?

Options :
1 %2,500

, 2,600
5 2,700

4 $2,400

Question Number : 33 Question Id : 953357173281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teh &R H #A15 W o & T ae & g e §

80 km T & ©¢ & foiv 2800

gict #fafaa a=¢ & v 2100 3R 9fd sfafed km F f@T 210
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ufer &= &2

Options :

1. %2500

2. 2600

Question Number : 34 Question Id : 953357173282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is at the third place when numbers are arranged in descending order?
9.09, 9.009, 9.990, 9.909, 9.099

Options :
1. 9.990

5 9.099
3 9.909
4 9.090

Question Number : 34 Question Id : 953357173282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FlG! & # ohaieyd we W Hroi@a # § S99 e del T W e

5.09, 9.008, 5.950, 9.909, 9.099
Options :



1. 9.990
2. 9.099
3. 9.909

4. 9.090

Question Number : 35 Question Id : 953357173283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a four digit number, the digit at hundreds place is 0, the digit at tens place is twice that of units place whereas, the
digit at thousands place is thrice that of units place. If the digit at units place is 2, what is the number?

Options :
1. 4062

» 6024
3 6042

4. 4602

Question Number : 35 Question Id : 953357173283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tk TN 3R bl e # g T W0, EE15 & TR W 3 SHI5 & TUM W I3 O g & SlElh guNd ¥ W 3% SIS &
TUA W 3 W AT &) TEm &= ge

Options :

1. 4082

) 6024
3. 6042

4 4602

Question Number : 36 Question Id : 953357173284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sum of two digit number and the number formed by reversing its digits is equal to 88.
How many of such numbers are there in which tens digit is greater than units digit?
Options :
1.5

Question Number : 36 Question Id : 953357173284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Teh G 3iehl dlell T AN 54 3ol T Uelee] UX a@=il T&AT o1 AT 88 & Tl fha=r G&a §, [=9 2gi5 & 3 5% & 3id
st 52

Options :
1.2

Question Number : 37 Question Id : 953357173285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A rectangle of sides 8cm and 10cm is divided into four equal rectangles.
What is the perimeter of each small rectangle?

Options :

1. 36cm

2. 9¢cm
3. 18 cm
4. 20cm

Question Number : 37 Question Id : 953357173285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SHAL N 10{AL HAHT arel Th HAT P 9R TAM Hhdl A [asioid far 7121 1 9deh BIC 340 &1 9T &1 G
Options :
1. 36T,

o, 9%AL
3. 183

4, 20304,

Question Number : 38 Question Id : 953357173286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true?
Options :
1A prime number when added to another prime number always gives a prime number

5 Aprime number when multiplied by another prime number always gives a prime number

3. Prime numbers do not have factors



4 There are infinitely many prime numbers

Question Number : 38 Question Id : 953357173286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fafof@a & ¥ Fla-9 72 9 &

Options :
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Question Number : 39 Question Id : 953357173287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number which divides 88 and 160 leaving remainders 3 and 7 respectively is:
Options :
1. 13

7. 17
3. 21

4. 28

Question Number : 39 Question Id : 953357173287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g g fogd 28 3 160 = Tuleg == W 99%e &9 3 3R 7 3, B i
Options :
1. 13

2. 17
3,021

4. 28

Question Number : 40 Question Id : 953357173288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Malini has only 22 and %5 coins with her. If the total number of coins she has is 36 and the amount of money with her
is 105, then the number of 2 and %5 coins with her are:

Options :
1 26 and 10 respectively

) 25 and 11 respectively



3 21 and 15 respectively

4 24 and 12 respectively

Question Number : 40 Question Id : 953357173288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AferAT & U Faer 22 R 5 F e §1 Al 39F g gl 6 For TEar 36 3K TMT 2105 § o 12 AR 25 & gt $r g
B

Options :

1. @ 26 3R 10

o, BAU: 25 3R 11
3 &AL 21 AW 15

4, HHL 24 3 12

Question Number : 41 Question Id : 953357173289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Evaluate 14.5%x3+18+3-3x12.5?
Options :
1. 6

7 12
3. 56

4 615

Question Number : 41 Question Id : 953357173289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A1 AT HifAT:
14,5x3+18+3-3x12.5
Options :

1.8

2. 12
3, 56

4, 615

Question Number : 42 Question Id : 953357173290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One-sixth of the trees in a garden are jamun trees, half of the trees are Eucalyptus trees and the remaining are peepal
trees.

If the number of jamun trees is 6, how many peepal tree are there in the garden?



Options :
1. 36

7. 12

Question Number : 42 Question Id : 953357173290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U G & gall A S & gail $f TEaT U Sedl 1T §, I e Jehfoadd & 3R ardht 9iaer & gaf §1 afg S & gal &
& 6 &, o anr #F due ¥ e aa 82

Options :

1. 36

2. 12

3, 18

Question Number : 43 Question Id : 953357173291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1St zﬂd

A train leaves Vishakhapatnam, on the 1°* September, 2019 at 04:48 hours and reaches its destination on

September at 17:37 hours.

The total travel time of the train is
Options :

1. 30 hours 37 minutes

> 36 hours 37 minutes
3. 36 hours 49 minutes

4. 38 hours 12 minutes

Question Number : 43 Question Id : 953357173291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ueh Yerems! faum@desA & 1 fiaFat 2019 T Gag 04:48 I GEAH A & AR 30 aaey W 2 awar &1 17:37 &= ggad &
$H YedsT T AT T FHe HAT b

Options :
1. 30 9t 37 A=e

2. 36 €& 37 AT
3. 36 B¢ 49 A=

4, 38 €€ 12 &=e



Question Number : 44 Question Id : 953357173292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following have the lengths been arranged in increasing order?
Options :
1 5500 cm 50 mm, 500 dm 30cm, 55000 mm, 50 m

2 50 m, 5500 cm 50 mm, 55000 mm, 500 dm 30 cm
3 55000 mm, 500 dm 30 cm, 5500 cm 50 mm, 50 m

4. 50 m, 500 dm 30 cm, 55000 mm, 5500cm 50 mm

Question Number : 44 Question Id : 953357173292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fAefaf@d & § S5 ofarsdl & 9ed oA 7 caafeyd &ar a3 &2
Options :
1. 55008.#. 50 mm, 500dm 30¥AL, 55000 mm, 50 m

5 90m, 5500 A 50 mm, 55000 mm, 500 dm 30 .4
3. 55000 mm, 500 dm 30 #.#T., 5500 &.#"., 50 mm, 50 m

4 50m, 500 dm 30%AL, 55000 mm, 5500 WAL, 50 mm

Question Number : 45 Question Id : 953357173293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 270cm long wire is formed into a rectangle. If the width of this rectangle is 50cm, what is its length?
Options :
1. 60cm

2. 75¢cm
3. 85cm
4. 90 cm

Question Number : 45 Question Id : 953357173293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 270 QAL @&l dR & U HEd & &9 8 §1 3fe 50 3aa & disg so @A §, O SHS eds #7452
Options :
|, 60TAT
5. 75 WAL

3. 85%LAL



4, SOTAT

Question Number : 46 Question Id : 953357173294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When asked to write 35, some students of grade Il wrote as 305. As a teacher, how will you address this problem
Options :
1. By telling them that it is wrong and asking them to find correct answer

5 By writing the correct answer on the black board
3 By asking them to write correct answer ten times in their notebooks

4. By explaining the principle of exchange through concrete material

Question Number : 46 Question Id : 953357173294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e 11 & ot 51 30 foEs & 57 o7 707 af $© & 300 Tan 3aE F w7 § 39 56§ gEiE w7
Options :
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Question Number : 47 Question Id : 953357173295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which aspect/aspects of mapping are present in the primary mathematics curriculum?

(A) Map interpretation

(B) Unscaled drawing

(C) Using symbols

(D) Drawing as per scale

Options :

L ACD

, ABC
; BCD
4 AB,D

Question Number : 47 Question Id : 953357173295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



fUTd & gufde gredeH # gidfEeT @REe) & i § gge fdege &7
(8) AT FT 7R

(B) TaaT YA arer Her@

(C) Hehdl (cirenl) T G

(D) YHRET & TR erg ie

Options :
1. A,CD

2. AB.C
3 BCD

4. G DA

Question Number : 48 Question Id : 953357173296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following topics are not part of the primary school Mathematics curriculum as per NCF 20057
Options :
_ Integers

—_

> Tessellations
3. Estimation

.WmmmW

N

Question Number : 48 Question Id : 953357173296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSR TS T4l 2005 F HgaR FEeiad & § S § ey aruffAe Hegredt # aivid aeawa #1 A 960 8
Options :
1,

p, Hs (@msferm

5 HEAE T

4_33%%

Question Number : 49 Question Id : 953357173297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Beads can be used to explain which of the following concepts?
Options :
1 Number sense, fractions, patterns

5 Fractions, place value, volume

3 Number sense, patterns, volume



4 Number sense, tessellations place value

Question Number : 49 Question Id : 953357173297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hielehl ol G HAeAtoii@d H & fohel HIURONHT & TS & ToC fohan o1 Hehll &7

Options :

1. -ﬁm E!T‘?_T, mo_-rr, Qﬁ—\qq

o Toe, TEE AE, AEE
3, TEAT &y, 9iaEd, HEaE

4 TEn &, gias (zrsfeer), TurEE A

Question Number : 50 Question Id : 953357173298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is/are true? Boys are better than girls in problem solving

(B) Children coming from rural background find mathematics difficult-

(C) Teacher's beliefs impact learner's performance in mathematics

Options :

1. A

4 AandB

Question Number : 50 Question Id : 953357173298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o # 4 &9 9@/ Fu 981 &7

(A) THEDT GATA #H of5eh, osiddl ¥ 8w 3199 §

(B) AT TSEHH F I aTer gl I AT HoA T

(c) 3e=mas & Rt &1 R aiftlg diee a6t & ugd=E g B

Options :

1. A

4 A3RE

Question Number : 51 Question Id : 953357173299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is most appropriate strategy to teach data collection and interpretation to primary class
students.

Options :

1 Providing lot of practise questions

5 Asking students to conduct survey
3 Conducting quiz in classroom

4 Conducting group discussion in class

Question Number : 51 Question Id : 953357173299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

wrefAs &all & TaeaTEl &1 sl & GguT IR 3iea tem & fov Meafaf@a & ¥ &= & a9 3 &2
Options :
|, ¥ & folU & AR 99 3gered] T
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Question Number : 52 Question Id : 953357173300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student tells that the shape of a samosa in triangle. He is at which stage of geometrical thinking as per Van Hiele's
level

Options :

1. Visualization

5 Analysis
3. Establishing Relationship

4. Axiomatics

Question Number : 52 Question Id : 953357173300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

v facamlt Fwar & g9 & eR B S §) a8 SfAd fQdes F 39 819 (van Hiele) ¥ HIOR RE TaU W &7
Options :
1. 0



Question Number : 53 Question Id : 953357173301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following may be considered a feature of a constructivist mathematics classroom?
Options :
1 Memorizations of mathematical definitions is accorded high value

5 The teacher focuses only on the right answers
3 Students’ errors are considered an important source of information

4 Interaction among students is discouraged

Question Number : 53 Question Id : 953357173301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TrRfEa § 9 50 Sadacas ((@-1a)) 0T FaTT ST TR0 AT o Tehdl 57
Options :
|, TOTERT ORETIST # FETy F F Ied A g
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Question Number : 54 Question Id : 953357173302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true in the context of nature of mathematics?
Options :
| Mathematics involves study of patterns and relationships

5 Mathematics is limited to study of numbers

3. Mathematics involves abstraction and visualisation

4. Mathematics connects to the real world

Question Number : 54 Question Id : 953357173302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT ¥ TORT F W A Mg A sl arad B
Options :
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Question Number : 55 Question Id : 953357173303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following may NOT be associated with the development of special understanding among children?
Options :
1 Calculating the distance between different cities on the map of India.

5 Imaging what a piece of paper would look like if it is folded along given lines.
3 Giving directions to reach their house from the school.

4 Matching the top-view of a pencil with its side view.

Question Number : 55 Question Id : 953357173303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

F=ff@a & ¥ o fagfiet & Bfew (fGemum) 99s & aeRa &6 & v dead: 3ugea 70 &2
Options :
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Question Number : 56 Question Id : 953357173304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct in the context of teaching area- measurement of plane figures?
Options :
1 Students should be given a chance to 'discover' the various formulae

5 Use of formula for area-measurement should be taught before estimation of areas
3 Grid paper can be a useful device for introducing and implementing the formal units of measurement

4 Tessellations with regular shapes can be useful for teaching area-measurement

Question Number : 56 Question Id : 953357173304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FAGA HSEAl F aFAGA H AU & e # el # § HlF @1 Fua w6 A &
Options :
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Question Number : 57 Question Id : 953357173305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the open-ended question from among the following.
Options :

The volume of a cardboard box is 480m?>. If its length and breadth area 10m and 8m respectively, What would its
1. height be?

2.
The breadth of cardboard box is four-fifths of its length and the height is three-fourths of its breadth. If the volume of

the box is 48[}m3, find its length, breadth and height

3 The area of a rectangular field is given to be 480m<, What can its length and breadth be?

4 How many rectangular plots of area 480m? can be accommodated in a larger field of area 3360m?2?

Question Number : 57 Question Id : 953357173305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SF=tleliad # ¥ #Hod Y arer ye &I UEH=L:
Options :
| U e & fSsd & IEGA 480m? §) MG sHH arg R st HHA: 10m IR 8m B, & gEH TS @ gl
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Question Number : 58 Question Id : 953357173306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct in the context of hierarchy of Mathematical concepts?
Options :
1. Multiplication builds on the concept of addition

5 Division builds on the concept of subtraction

3 Integers build on the concept of natural numbers



4 Fractions build on the concept of decimals

Question Number : 58 Question Id : 953357173306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 59 Question Id : 953357173307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|dentify a desirable practice for teaching fractions at primary level
Options :
1 Everyday conceptions of fraction should not be allowed to interfere with classroom teaching

5 Only halves and quarters should be introduced at primary level
3 The concept of fractions should be demonstrated in multiple situations

4 Numerator and denominator should be emphasised as separate numbers

Question Number : 59 Question Id : 953357173307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 60 Question Id : 953357173308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT desirable with regard to assessment in mathematics at primary level?
Options :
1 Emphasis should be on assessing conceptual understanding



5 Aunique test pattern should be consistently followed

3. Assessment should be sensitive to the context of students

4 Itis important to challenge all children according to their mathematical taste

Question Number : 60 Question Id : 953357173308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TUEF TR W AT & Hhed § 999 § FEaidd § § =T aisard J8 67
Options :
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Question Number : 61 Question Id : 953357173309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which one of the following parts of our country most of the people grow tapioca and coconut in their own courtyard and using these
they prepare their tasty food?

Options :

1. Kerala

2. Goa

3. Assam

4. Andhra Pradesh

Question Number : 61 Question Id : 953357173309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. e
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Question Number : 62 Question Id : 953357173310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The name of a particular species of birds whose male bird makes many beautiful nests and the female bird selects one nest to lay her eggs
is

Options :

1. Indian Robin

2. Sunbird

3. Tailor bird

4. Weaver bird

Question Number : 62 Question Id : 953357173310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

-
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Question Number : 63 Question Id : 953357173311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Your house is located at X and your father's shop is located at Y. Although your father's shop is just opposite but you cannot go straight
because of a deep canal in between, therefore, you first go 200m due south, then 150m long bridge which is due east and finally reach at
your father's shop which is 200m due north. With respect to Y, the minimum distance of your house and it's direction respectively are:

Options :

1. 150 m due west
2. 150 m due east

3. 350 m due west
4. 550 m south-west

Question Number : 63 Question Id : 953357173311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

L 150 m S Utgm =

, 150 ma%n":g:?ﬁ

3 350 m @R utge F

4 550 m 31 Stgurutae 5

Question Number : 64 Question Id : 953357173312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A doctor has suggested to a person to eat daily the green leafy vegetables, amla and jaggery (Gur) along with medicines. This person must
be patient who is suffering from

Options :
1. Anaemia
2. fever

3. malaria
4. typhoid

Question Number : 64 Question Id : 953357173312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 953357173313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bronze is an alloy whose main constituents are

Options :

1. lead and tin

2. copper and tin

3. copper and zinc

4. Aluminium, copper and tin

Question Number : 65 Question Id : 953357173313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 953357173314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements about the world famous pashmina.

(A) A pashmina showl is as warm as six sweaters.
(B) The goats from which the soft pashmina wool is collected are found on very high mountains of 5000 m.
(C) A coat of warm hair grows on the goat's body which protects it from extreme cold.

(D) The fine hair after cutting from the goat’s body are woven on machines.

The correct statement(s) is/are
Options :

1. only B

2. only D

3.A,Cand D

4. A,Band C

Question Number : 66 Question Id : 953357173314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 953357173315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which year a thousand people died in the earthquake that struck in Bhuj (Gujarat)?

Options :

1.2000

2.2001

3.2002

4.2004

Question Number : 67 Question Id : 953357173315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

L. 2000

5 2001
3 2002

4 2004

Question Number : 68 Question Id : 953357173316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

With respect to the location of the capital of our country, the capital of the Himachal Pradesh (Shimla) and the capital of the Madhya
Pradesh (Bhopal) are located (respectively) in the

Options :

1. north and south

2. south-east and north-west

3. south-west and north-west
4. north-east and north-west

Question Number : 68 Question Id : 953357173316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357173317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A person living in Shimla (Himachal Pradesh) wants to first visit Bhopal (Madhya Pradesh) and then Gandhinagar (Gujarat). The direction
of his journey will be first towards



Options :

1. south east and then towards west
2. south west and then towards east
3. south and then towards west

4. south and then towards east

Question Number : 69 Question Id : 953357173317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357173318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The state/Union Territory of our country which has a coast on the Arabian Sea is

Options :

1. Andhra Pradesh

2. Karnataka

3. Puducherry

4. West Bengal

Question Number : 70 Question Id : 953357173318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357173319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A special kind of dance named 'Cheraw' is performed by the people of

Options :

1. Assam



2. Mizoram
3. Odisha
4. Jharkhand

Question Number : 71 Question Id : 953357173319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :

Question Number : 72 Question Id : 953357173320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the map of India, if you draw a straight line AB from Kolkata (capital of West Bengal which is point A) to Puducherry (which is point
B), then the direction of the point A with respect to the point B would be

Options :

1. due south
2. due west
3. south west
4. north-east

Question Number : 72 Question Id : 953357173320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 953357173321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the female athlete who started weight lifting at the age of 12 years, succeeded in lifting weight of 130 kg and won 29 medals in
international events

Options :

1. Sunita Williams
2. Wahida Prism
3. Bachhendri Pal



4. Karnam Malleshwari

Question Number : 73 Question Id : 953357173321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357173322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A tourist boarded a train on 10" November 2021 from Ernakulam Town to Vadodara. The train departed from Ernakulam Town at 22:40

hours and reached Vadodara at 14:10 hours on 12" November 2021. If the distance between the railway stations of the two cities is 1896
km, the average speed of the trains during the journey of the tourist was

Options :

1. 96 km/h
2. 72 km/h
3. 48 km/h
4.36 km/h

Question Number : 74 Question Id : 953357173322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 96 km/hr

2. 72 km/hr
3 48 km/hr

4. 36 km/hr

Question Number : 75 Question Id : 953357173323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A group of spices whose every member is grown in Kerala is

Options :

1. Black pepper, turmeric, tejpatta

2. Tejpatta, black pepper, cardamom

3. Zeera (cumin seed), red-chilli, tejpatta



4. Zeera (cumin seed), black pepper, cardamom

Question Number : 75 Question Id : 953357173323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357173324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In relation to EVS, the child looks at his environment

Options :

1. into its segregated form.

2. in a holistic manner.

3. in its simple form.

4. into its theme form.

Question Number : 76 Question Id : 953357173324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2t T, % we T ST 379 ST B e H o R A § e
Options :
| TR YR ETH

, TEOET
3. THH AN ®T

4 TEF SHFETY

Question Number : 77 Question Id : 953357173325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Curriculum of EVS has been designed

Options :

1. on topics.

2. on syllabus

3. on themes

4. on topics and syllabus both

Question Number : 77 Question Id : 953357173325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357173326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

NCF-2005 views EVS in classes I1I to V as a subject which integrates the concepts and issues of

Options :

1. science and social science

2. science, social science, language and mathematics

3. science, social science and environmental education

4. science, social science and languages

Question Number : 78 Question Id : 953357173326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357173327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following challenge/s may be faced by the EVS teacher in his/her EVS class?

A. Multicultural dimensions of his/her class
B. Feeling of each and every student
C. Everyone's community, culture and way of life

D. Class room discipline and it's management
Options :

1. A and D only

2. Band D only



3. Cand D only
4. A, B and C only

Question Number : 79 Question Id : 953357173327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357173328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate objective of teaching EVS at primary stage is to

Options :

1. develop descriptions and definitions of the various concepts of EVS

2. provide lot of space to students to explore his/her environment

3. facilitate students to learn the concepts of EVS

4. encourage students to learn EVS through concrete informations shared by the teacher

Question Number : 80 Question Id : 953357173328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357173329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Family and friends in EVS curriculum is

Options :

1. theme



2. subtheme
3. topic
4. syllabus

Question Number : 81 Question Id : 953357173329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357173330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meaningful EVS learning can only be made possible if

Options :

1. student's local experiences are related to school experiences.

2. school knowledge is used in the construction of knowledge

3. student's local experiences are not given due importance

4. trained EVS teacher's experiences are used.

Question Number : 82 Question Id : 953357173330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357173331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the learning of EVS, activities conducted by the teachers should be followed by for authentic and meaningful learning.
Options :

1. discussion

2. listing of activities

3. learning the steps of activities

4. recapitulation of the activities



Question Number : 83 Question Id : 953357173331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357173332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learning through group activities is performed in EVS classes because

Options :

1. it provides peer learning

2. it improves social interactions among students

3. it provides and improves peers and social learning among students

4. students only demand group learning

Question Number : 84 Question Id : 953357173332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357173333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following indicates skills process in learning of EVS?

Options :

1. classification

2. description

3. statement

4. recall

Question Number : 85 Question Id : 953357173333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 86 Question Id : 953357173334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate objective of promoting parent's and community's participation in the learning of EVS by students is to
Options :

1. provide an opportunity to teachers to know the student's socio-cultural background.

2. follow the recommendation of national policies.

3. maintain discipline in the school.

4. know the students and guide them in the learning of students.

Question Number : 86 Question Id : 953357173334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357173335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The challenges and issues in EVS class at primary level can be very well addressed by

Options :

1. lecture and discussion

2. free debate

3. lecture and demonstration

4. debate followed by discussion

Question Number : 87 Question Id : 953357173335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357173336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Qualitative assessment of children's learning in EVS can be done by

A. Record of children's ideas, observation reports
B. Observation of process skills
C. Paper-Pencil tests

D. Achievement tests
Options :

1. A and B only

2. Cand D only

3. A,Band D only
4. A, B and C only

Question Number : 88 Question Id : 953357173336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357173337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is a formative assessment tool in EVS?

A. Portfolio
B. Anecdotal record

C. Rating scale



D. Observation and recording
Options :

I.LA,B&C

2.A,B&D

3.A,C,&D

4.A,B,C&D

Question Number : 89 Question Id : 953357173337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 953357173338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“Drawing pictures of animals using fingers and thumb prints”
X Y

In the above line, identify (X) and (Y).

(A) Xis verb and Y is noun

(B) X is action verb and Y is content

(C) X is cognitive process and Y is content

(D) X is content and Y is verb.

Options :

1. B, Cand D.

2.A,Band C

3.B,Cand D

4. A,Cand D

Question Number : 90 Question Id : 953357173338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Label : Comprehension



Directions: Read the passage given below and answer the
questions that follow by choosing correct / most appropriate
options:

The total forest cover of Himachal Pradesh increased nearly
by 25 percent and by more than 1000 percent in Lahaul and Spiti
district between 1991 and 2015 due to plantations initiatives,
according to an analysis report by the State Centre on Climate
Change.

Out of a total geographical area of 55, 673 square kilometres,
the state has recorded a forest cover of 27.72 percent (15,433.52
square kilometres), according to The State of Forest Report
(ISFR), a biennial publication of the Forest Survey of India,
released last month.

It is said that ‘dense forest cover’ in Kinnaur decreased from.
565 sq. km to 344 sq. km during this period, a decrease of 39
percent. Hamirpur, Kullu, Shimla and Sirmaur districts also
witnessed a declining trend in the dense forest cover. On the other
hand, it increased from zero to 47 sq. kms in Lauhaul and Spiti
and from 164 to 459 sq. km in Solan, while other districts also
saw an increasing trend.

Except Una and Kangra districts, the State witnessed an
increasing trend of ‘open forest cover’ with Lahaul and Spiti
registering an increase of 770 percent. The total area under scrubs
in the State has decreased substantially since 1995 from 1,845 sq
kms, the report said.

It further said that as per FSI's data, some of the forest area in
Una district was found to be highly vulnerable to forest fires
while a substantial area of different forest classes in Sirmaur and
Solan districts was also found to be moderately vulnerable to fires
due to preponderance of Chir Pine forests in those areas.

The report also said that various broad- leaved species of trees,
which are used to produce a tinier quality of fuel and fodder, are
facing a decline in area due to “anthropogenic pressure of the
forest fringe communities™

Sub questions

Question Number : 91 Question Id : 953357173340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ISFR report is published
1) every three months.
2) every six months.
3) every nine months.
4) every twenty four months.
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357173341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Plantation activities in the entire state of Himachal Pradesh
have shown a
1. downward trend.
2. rising trend.
3. mixed trend.
4. anuneven trend.
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357173342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following statements:
A. The forest cover in Lahaul and Spiti decreased by 39
percent.
B. The forest cover in Kullu increased by 40 percent.
C. The forest cover in Lahaul and Spiti increased by less
than 800 percent.
D. A part of Una district was highly vulnerable to forest
fires.

A s false and B is true.
B is false and C is true.
C is false and D is true.
. Both A and D are false.
Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 94 Question Id : 953357173343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following statements
A. A few areas in Sirmaur district were found
vulnerable to forest fires.
B. Some areas of Solan district were found vulnerable to
forest fires.
A is true and B is false.
B is true and A is false.
Both A and B are false
. Both A and B are true
Options :
1.1
2.2
3.3
4.4

W

e

Question Number : 95 Question Id : 953357173344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is not true according as the
passage?
The total geographical area of Himachal Pradesh is
1. not more than 55,558 sq. km,
2. not less than 60,000 sq. km,
3. more than 54,900 sq. km.
4. Is neither less nor more than 55,673 sq. km.,
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357173345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words has the same meaning as the

word ‘tremendous’ used in the passage?
1. immense

exact

vibrant

. constant

Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 97 Question Id : 953357173346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words is the antonym of

‘inappropriate’ as used in the passage?
1. misappropriate

disproportionate

approximate

. suitable

Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 98 Question Id : 953357173347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the phrase

‘continuously putting pressure * in the passage?
1. Verb

Adjective

Adverb
4. Noun

Options :

1.1

2.2

3.3

4.4

w1



Question Number : 99 Question Id : 953357173348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?
It will rain tomorrow, I shall not come

(a) (b)
to meet you in the club.
{c) (d)
1. (d)
2. (b)
3. (e
4. (a)
Options :
1.1
2.2
3.3
4.4

Question Id : 953357173339 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension



Directions: Read the passage given below and answer the
questions that follow by choosing correct / most appropriate
options:

The total forest cover of Himachal Pradesh increased nearly
by 25 percent and by more than 1000 percent in Lahaul and Spiti
district between 1991 and 2015 due to plantations initiatives,
according to an analysis report by the State Centre on Climate
Change.

Out of a total geographical area of 55, 673 square kilometres,
the state has recorded a forest cover of 27.72 percent (15,433.52
square kilometres), according to The State of Forest Report
(ISFR), a biennial publication of the Forest Survey of India,
released last month.

It is said that ‘dense forest cover’ in Kinnaur decreased from.
565 sq. km to 344 sq. km during this period, a decrease of 39
percent. Hamirpur, Kullu, Shimla and Sirmaur districts also
witnessed a declining trend in the dense forest cover. On the other
hand, it increased from zero to 47 sq. kms in Lauhaul and Spiti
and from 164 to 459 sq. km in Solan, while other districts also
saw an increasing trend.

Except Una and Kangra districts, the State witnessed an
increasing trend of ‘open forest cover’ with Lahaul and Spiti
registering an increase of 770 percent. The total area under scrubs
in the State has decreased substantially since 1995 from 1,845 sq
kms, the report said.

It further said that as per FSI's data, some of the forest area in
Una district was found to be highly vulnerable to forest fires
while a substantial area of different forest classes in Sirmaur and
Solan districts was also found to be moderately vulnerable to fires
due to preponderance of Chir Pine forests in those areas.

The report also said that various broad- leaved species of trees,
which are used to produce a tinier quality of fuel and fodder, are
facing a decline in area due to “anthropogenic pressure of the
forest fringe communities™

Sub questions

Question Number : 91 Question Id : 953357173340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ISFR report is published
1) every three months.
2) every six months.
3) every nine months.
4) every twenty four months.
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357173341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Plantation activities in the entire state of Himachal Pradesh
have shown a
1. downward trend.
2. rising trend.
3. mixed trend.
4. anuneven trend.
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357173342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following statements:
A. The forest cover in Lahaul and Spiti decreased by 39
percent.
B. The forest cover in Kullu increased by 40 percent.
C. The forest cover in Lahaul and Spiti increased by less
than 800 percent.
D. A part of Una district was highly vulnerable to forest
fires.

A s false and B is true.
B is false and C is true.
C is false and D is true.
. Both A and D are false.
Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 94 Question Id : 953357173343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following statements
A. A few areas in Sirmaur district were found
vulnerable to forest fires.
B. Some areas of Solan district were found vulnerable to
forest fires.
A is true and B is false.
B is true and A is false.
Both A and B are false
. Both A and B are true
Options :
1.1
2.2
3.3
4.4

W

e

Question Number : 95 Question Id : 953357173344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is not true according as the
passage?
The total geographical area of Himachal Pradesh is
1. not more than 55,558 sq. km,
2. not less than 60,000 sq. km,
3. more than 54,900 sq. km.
4. Is neither less nor more than 55,673 sq. km.,
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357173345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following words has the same meaning as the
word ‘tremendous’ used in the passage?
l. immense
exact
vibrant
. constant
Options :
1.1
2.2
3.3
4.4

w1

e

Question Number : 97 Question Id : 953357173346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words is the antonym of

‘inappropriate’ as used in the passage?
1. misappropriate

disproportionate

approximate

. suitable

Options :

1.1

2.2

3.3

4.4

w1

e

Question Number : 98 Question Id : 953357173347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the phrase

‘continuously putting pressure * in the passage?
1. Verb

Adjective

Adverb
4. Noun

Options :

1.1

2.2

3.3

4.4

w1



Question Number : 99 Question Id : 953357173348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which part of the following sentence contains an error?
It will rain tomorrow, I shall not come
(a) (b)

to meet you in the club.
(c) id)

(d)
(b)
(c)
(a)

W

e

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 95335710425
Question Shuffling Allowed : Yes

Question Id : 953357173349 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Read the following poem and answer the questions that follow by
choosing the correct/most appropriate options:
Look To This Day

Look to this day
For it is life, the very life of life.
In its briefest course
Lie all the verities and realities of your existence
The bliss of growth,
The glory of action,
The splendour of achievement
Are but experiences of time.
For yesterday is but a dream
And tomorrow is only a vision;
And today well lived. makes
Yesterday a dream of happiness
And every tomorrow a vision of hope.
Look well therefore to this day;
Such is the salutation to this ever new dawn.
Sub questions

Question Number : 100 Question Id : 953357173350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The poem is celebration of today because

unborn tomorrows forecast our future.

it is but a reflection of yesterday’s glory.

one is not suspended between the past and the future.

life lived in the present is neither a dream nor a

vision.

L N

bl



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357173351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The poem highlights the significance of
I. dead yesterdays.
2. unborn tomorrows.
3. a meaningful connection between the past and the
future.
4. seizing the creative power of the present.
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357173352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The word *verities™ as used in the poem means
. varieties
2. wvariations
3. waried

. Vveracities

Options :

1.1

2.2

3.3

4.4

e

Question Number : 103 Question Id : 953357173353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which figure of speech is used in the phrase “The very life

of life™?

1. Metonymy
2. Hyperbole
3. Simile

Metaphor

B

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357173354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The overall tone of the poem is
I. cynical
2. dreamy
3. perplexing
4. realistic
Options :



1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357173355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which figure of speech has been used in the phrase

“tomorrow is only a vision™?
1. Epigram

. Personification

. Oxymoron
4. Metaphor

Options :

1.1

2.2

3.3

4.4

2
3

Question Id : 953357173349 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Read the following poem and answer the questions that follow by
choosing the correct/most appropriate options:
Look To This Day

Look to this day
For it is life, the very life of life.
In its briefest course
Lie all the verities and realities of your existence
The bliss of growth,
The glory of action,
The splendour of achievement
Are but experiences of time.
For yesterday is but a dream
And tomorrow is only a vision;
And today well lived. makes
Yesterday a dream of happiness
And every tomorrow a vision of hope.
Look well therefore to this day;
Such is the salutation to this ever new daw.
Sub questions

Question Number : 100 Question Id : 953357173350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The poem is celebration of today because
1. unborn tomorrows forecast our future.
it is but a reflection of vesterday’s glory.
one is not suspended between the past and the future.
life lived in the present is neither a dream nor a
vision.
Options :
1.1
2.2

w1

b



3.3
4.4

Question Number : 101 Question Id : 953357173351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The poem highlights the significance of
I. dead yesterdays.
2. unborn tomorrows.
3. a meaningful connection between the past and the
future.
4. seizing the creative power of the present.
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357173352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The word *“verities™ as used in the poem means
1. varieties
2. variations
3. waried
. veracities
Options :
1.1
2.2
3.3
4.4

s

Question Number : 103 Question Id : 953357173353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which figure of speech is used in the phrase “The very life
of life™?

1. Metonymy

2. Hyperbole

3. Simile
Metaphor

o

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357173354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The overall tone of the poem is
I. cynical
2. dreamy
3. perplexing
4. realistic
Options :
1.1
2.2
3.3



4.4

Question Number : 105 Question Id : 953357173355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which figure of speech has been used in the phrase
“tomorrow is only a vision™?

l. Epigram

2. Personification

3. Oxymoron
Metaphor

B

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335710426
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357173356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

All children are motivated by activities that are
1) planned by adult.
2) planned by children.
3) meaningful to them
4) meaningful to teachers.
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 953357173356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

All children are motivated by activities that are
1) planned by adult.
2) planned by children.
3) meaningful to them
4) meaningful to teachers.
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357173357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At primary level the instructions for a language game or an activity should be given in
1) child’s home language or mother tongue.
2) second language or English.
3) the school language or state language.
4) the teacher’s language or medium of instruction.
Options :
1.1



2.2
3.3
4.4

Question Number : 107 Question Id : 953357173357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At primary level the instructions for a language game or an activity should be given in
1) child’s home language or mother tongue.
2) second language or English.
3) the school language or state language.
4) the teacher’s language or medium of instruction.
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357173358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT correct with respect to the following sentence?
Rhymes. songs and chants are the ways for children to
1) internalise words and sentence structure
2) practise pronunciation.
3) learn grammar through the text.
4) extend vocabulary
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357173358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT correct with respect to the following sentence?
Rhymes. songs and chants are the ways for children to
1) internalise words and sentence structure
2) practise pronunciation.
3) learn grammar through the text.
4) extend vocabulary
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357173359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher assesses children ...
1) to find out as to who the best language user in the class is.
2) to find the learning gaps of children.
3) to plan further to help children move forward in their learning.
4) to compare a child to his or her classmates
Options :
1.1



2.2
3.3
4.4

Question Number : 109 Question Id : 953357173359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher assesses children ...
1) to find out as to who the best language user in the class is.
2) to find the learning gaps of children.
3) to plan further to help children move forward in their learning.
4) to compare a child to his or her classmates
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357173360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bilingual children often use words from one language while speaking the other. This is called

1) code-switching
2) code-mixing
3) multilingualism
4) competence level
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357173360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bilingual children often use words from one language while speaking the other. This is called

1) code-switching
2) code-mixing
3) multilingualism
4) competence level
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357173361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Children begin their journey towards writing by making marks, these marks are called
1) drawing
2) scribbling
3) writing
4) invented spellings
Options :
1.1



2.2
3.3
4.4

Question Number : 111 Question Id : 953357173361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children begin their journey towards writing by making marks, these marks are called
1) drawing
2) scribbling
3) writing
4) invented spellings
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357173362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following skills will help children to develop their handwriting later on?
1) Spreading clothes in an almirah
2) Spilling up something
3) Picking up sticks
4) Threading beads onto laces.
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357173362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following skills will help children to develop their handwriting later on?
1) Spreading clothes in an almirah
2) Spilling up something
3) Picking up sticks
4) Threading beads onto laces.
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357173363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following is most important about illustrations in a language text book?
1) Illustrations help to present language in unfamiliar and memorable contexts.
2) Illustrations help to match what learners feel and hear to what they see around.
3) Develop the visual literacy of the children

4) Appreciate the art and aesthetic sense of the illustrator and teacher.
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357173363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is most important about illustrations in a language text book?
1) Illustrations help to present language in unfamiliar and memorable contexts.
2) Illustrations help to match what learners feel and hear to what they see around.
3) Develop the visual literacy of the children

4) Appreciate the art and aesthetic sense of the illustrator and teacher.
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357173364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Stories encourage children to enjoy language learning and foster their
1) appreciation of literature.
2) forms of language
3) life skills.

4) kinaesthetic skills.
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357173364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Stories encourage children to enjoy language learning and foster their
1) appreciation of literature.
2) forms of language
3) life skills.

4) kinaesthetic skills.
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357173365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who said that children are biologically programmed for language and that language develops in the child in just the
same way as other biological functions develop.
1) B.F. Skinner
2) Noam Chomsky
3) Lev Vygotsky
4) Jean Piaget
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357173365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who said that children are biologically programmed for language and that language develops in the child in just the
same way as other biological functions develop.
1) B.F. Skinner
2) Noam Chomslky
3) Lev Vygotsky
4) Jean Piaget
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357173366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT correct about teaching grammar effectively?
1) Present the form in genuine communication
2) Elicit relevant rules of grammar in contexts.
3) Provide the form in practice in real life-like communication
4) Learn grammar by memorising its rules and through drills.
Options :
1.1
2.2



3.3
4.4

Question Number : 116 Question Id : 953357173366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which one of the following is NOT correct about teaching grammar effectively?
1) Present the form in genuine communication
2) Elicit relevant rules of grammar in contexts.
3) Provide the form in practice in real life-like communication
4) Learn grammar by memorising its rules and through drills.
Options :
1.1
2.2

3.3
4.4

Question Number : 117 Question Id : 953357173367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following should be mastered to acquire literacy?

1) Phonological awareness and fluency
2) Sight vocabulary and pattern recognition
3) Decoding and language comprehension
4) Accuracy and phonological comprehension
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357173367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following should be mastered to acquire literacy?

1) Phonological awareness and fluency
2) Sight vocabulary and pattern recognition
3) Decoding and language comprehension
4) Accuracy and phonological comprehension
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357173368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The use of technology to enhance language learning process is called in education.
1)IT
2)ICT
3) Informative technology
4) Communication technology
Options :
1.1



2.2
3.3
4.4

Question Number : 118 Question Id : 953357173368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The use of technology to enhance language learning process is called in education.
1)IT
2)3CT
3) Informative technology
4) Communication technology
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357173369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A scoring guide used to assess the students’ learning is known as
1) rubrics
2) checklists
3) inventories
4) rating scales

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357173369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A scoring guide used to assess the students’ learning is known as
1) rubrics
2) checklists
3) inventories
4) rating scales

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357173370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Grammar-Translation Method lays more stresses on
1)y Accuracy
2) Fluency
3) Appropriateness
4) Pronunciation
Options :
1.1
2.2
3.3



4.4

Question Number : 120 Question Id : 953357173370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Grammar-Translation Method lays more stresses on
1) Accuracy
2) Fluency
3) Appropriateness
4) Pronunciation
Options :

1.1
2.2
3.3
4.4

Language 11
Section Id : 9533575997
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335710427
Question Shuffling Allowed : Yes

Question Id : 953357173371 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 953357173372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A FEE TR, SR S A, oy e amee

1. T==T==E
2. oM
3, TS

4. Tt



Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357173373 Question Type
Correct Marks : 1 Wrong Marks : 0

T FEEE: T F A WA G5 T ST

o

1. TEEA=EAT
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357173374 Question Type
Correct Marks : 1 Wrong Marks : 0

TR T 7 TgaaTd F G TEiEaa 7

o

1. FEr=EdTE
2. TR

Options :

1.1

2.2

3.3

4.4

Question Number : 124 Question Id : 953357173375 Question Type
Correct Marks : 1 Wrong Marks : 0

TG T HqaE: gvad ¥ 7

1. 50-60
2. 60-70
3. T0-80
4. 40-30

Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 953357173376 Question Type
Correct Marks : 1 Wrong Marks : 0

A G5 00 G| T e T T, e 5 7

L. g™
3, T
Options :

1.1
2.2

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No



3.3
4.4

Question Number : 126 Question Id : 953357173377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

[ [ i~ r
LTdl=lchodd :'|',.|'\'L'~:'|J*_||'-'H'.'|: FHH ST ST A9 -

1. TEW: WY A I |
2. T UEHIG g S |
3. Tmsfrata i)
4, COHTS: SO 31 |
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357173378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

[ sy [ OO
ST T TRTees T TG w5 ATdan ?
. RIS Saaa =
2. SR

3. SaTEET
4, e
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357173379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. S A I S |
2. FEOIET: WU AR A |
3. o e e |
4, o=t v |

Options :

1.1

2.2

3.3

4.4

Question Id : 953357173371 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension



%GIF\‘:](LTE:LHM':\l’J%: EUEGH ‘E-’&V—I HJ-I'.EHHHEJ?'—'F?] ‘J'!'i'fallvi- "ijl{o‘;d ! _Ul'-'l:bd’i': Hd QI{I':L
Tl S | a7 S wied ot | T e et e e = v |
Tomer: T o7F ST FHIE | AE: TS R O 36 | ST S O, S A | T
T T T STEE S W S | S S S O St ° Fe A
Tt B | G e e | o g e | Ferh e g e ST Tee -
vy T @ 31 | 951 O g IAE -« wwaE: 25 At 3 |

T ST TEA - <RI T I WA DRI STt =T e 5t | ot
A TEI T - 38 TRy 3 5 | o6 A 7 T T I - < 991 39 - e
TR, T9T: I | A Teba Sia S W | 37d: 37 SthaT — 378 Teafauiaayia
e 3 | O, e S, 5 et S = |

Sub questions

Question Number : 121 Question Id : 953357173372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TER: T BT SR R A s, 7 T e

1. Toed=Tale
2. T
3. =AM
4, UsSEET
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357173373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T T F, Ra: A 5 T T, S 2

1. TEA={EHAR

3. TEEAEEE

4. TEEETH=ATEAT
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357173374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HeagE: O o1 gﬁ&dldﬁfi’?ﬁ&_’l:l'ﬁoirlf-_hddl—l«?

C o

1. S
2. TTEREETET
4. TEWREE

Options :

1.1

2.2

3.3

4.4

Question Number : 124 Question Id : 953357173375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TE: T A G 7

1. 50-60
2. 60-70
3. T0-80
4. 40-30

Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 953357173376 Question Type
Correct Marks : 1 Wrong Marks : 0

A G5 00 G| T e T T, e 5 7

1.
2. T
3, T
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357173377 Question Type
Correct Marks : 1 Wrong Marks : 0

[ [ i~ r
T =Rt ea T ST FEH ST ST 1Y -

1. T T A O |
2. OO g1 S |
3. Fwishrat fghy |
4, CORETSS: SO S |
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357173378 Question Type
Correct Marks : 1 Wrong Marks : 0

|. ISy ST
3. sETTE
4, T

Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 953357173379 Question Type
Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No



TET I T WTE T R 5 1 e e 7
1. T A T = |
2. FRUICT: HgUT: AT I |

3. Q:HE\BQC—FH#‘JEJTHH: [

4. Tt wwae |
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 95335710428
Question Shuffling Allowed : Yes

Question Id : 953357173380 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)

Question Label : Comprehension

3-4?!4”'{"”@"1 4|‘EJ|¥ BIGEEIGE Iﬂlt"dyWIda‘JQ‘-{[H—lﬂ‘lﬂ"w .jl'ddHH_'dT%_ﬂn%—@;”

TG T ST, | T TR AR Ej%m:r’—ra?r'nﬁ = ST | T T mmpr
srfmfT. A -uu:mr = T uv:nmm a-*—:.n:m'r'm‘rrm«ﬁaﬁm T 3T |
a:gfrrrl‘-l‘[mﬁrm‘lm T T T 3T FH ST T dﬁ_ﬂjﬂﬁg@' ‘::Eﬁrg
=TI e |

ST T AT T, T T AT P T e, T ST - a-an Y g 0
F‘mm——rr m&—;ﬁmqawmﬁwmw | AT ST ST e THTH: TaT T
H‘l:r:mgaaﬁtnzar'? ‘qT oI 'H;I!‘-& %%:}Idd-—d i

R‘um‘l:rqddrd. I';I_JUIE-':I. TTEEH vceilorm‘_'eralﬁ?[‘ s T W:zﬁﬁﬂwl e AR b
forml s TRmaa: | T TS Fad Jthea: | 9 3 oATel i S g2 | W: 3TaET- S,
7% v Taaw T T st e
EEp e MQGI':HH_\S«;'GE,}(L- ST EETHAT: ST TFT g 4.,4:|U§J\4;_._r4_§ e.a.?\qq-.a\-i wqrﬁ:@j

TEE, TEW ST T U T i [
T T TS AT | ST = T - F e T 9T e R |

Sub questions

Question Number : 129 Question Id : 953357173381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FW ST ?ﬂ-ﬁﬂh‘?

1. T=m
2. =T
3 Eff%?
4. =T

Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 953357173382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

mmm

Edaecnpiof
TATATTE
ECr [t

g b Dk



Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 953357173383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR 3 we o -

1. &
2.
i ®=
4, i e
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 953357173384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

-

1. O
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357173385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TI’:IT'ET%’:FFFH:'_TCFET}T:T ol 7
1
2. T
3

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357173386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“TegET 3 AT = = v

3. "o gA
Options :

1.1



2.2
3.3
4.4

Question Number : 135 Question Id : 953357173387 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

LTI TH 5 G¥ 1 S aTae ST ?

1. AT
4. AT
Options :
1.1
2.2
3.3
4.4

Question Id : 953357173380 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension

G-JHIIQ‘HGH 4I‘EJIE BIGEEETGE IHIHdLli.ﬂqTIdG'Q‘-l[H-lQ‘I"HW ,jltldHH_'v:ﬂ—%_ﬂlT%ﬁ;fl

AT I e,mq‘:ﬁnmq—; AT EI=LIE] }u-JJ{"4~rHI"1 T:ro-—m?nmtrq 'GEI'ITFEI'H'E:I'FT
ET%EFI'F{"TI' kry -1-1—|F|12T =T T d'lT:l'UTHE'! aﬂ—:|1=|‘crr'u'rc':-rrua;f€m=|ﬁm T=T: 29 |
ST T AT Fa - g AT T e T A T 9H T -
ST st |

T & ST A, W 77 [HH ke 7 SRR, T S99 a5 w5y SEE 0
et e, TR ST U TR STTE: | AT TS T Fe: THTH: Ta T
T STTEAE TEEE = — T e | gEi: T R e o

T HH gaa; | Tiea: 9aee Fufeay 37Ead - <39! S 56, 55 FY @ | 99 T 59
Pty ] T | T TS A S | T ST ST U GEA | T ST T,
7% W Taewy uF Tty srfrests shiaar I
EEenp y?ﬁdﬂq-{_ﬁuvﬁd_‘- T AT SR Zr‘:_érrl e mUig_._rd_;f__ 34.?\-|q—.-\1' uq—g{gj
TS, TE ST YO U S A | _
TS TS TATSHE | STt = T - e G AT Teh ST |

Sub questions

Question Number : 129 Question Id : 953357173381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o AT ?ﬂ-lilnah'?

1. T=1
2. T
E Efff%ﬁ
4. =T

Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 953357173382 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



1 TG A
2. ST
4. s

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 953357173383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 3 wa o -

1. F=
2. @
3. ®-
4, o
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 953357173384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=

1. O
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357173385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T AR i TN WG ?

1. TEEE
2. TeEEER
3. T

Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 953357173386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



“TFEgET 3 e e e T 2

3. WA g
4. T
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357173387 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. TR

3

4. iR
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 95335710429
Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 953357173388 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
afE m ; T%ﬁé?mﬁﬁﬁam Tt ar famar TE I A
1. TR ST TR = e v =i |
3. T WTHIOS i gEh |
4. T T EISTERT ST TR ST T it |
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 953357173388 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ThE T T%ﬂ%?ﬂﬁﬁﬁwgﬁﬁfﬁwﬁwmm
1. TR ST Eeee = e e e |
3. SR I e e |
4. STVETEE FISTERT A TR S weee: Wt |

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 953357173389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

1. =TT Tl Al |
2. T ST et |
3. TEM 9 T = |
4, T ETHE i |

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 953357173389 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. =TT Tl i |
2. o 3—:!3:1_-*-:4 Hheeaty |
3, =AM 9T T T |
4, T ETEE i |
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357173390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. T ST S |
2. T ST GS: T AR S |
4. FEEHM AT |

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357173390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. =T |TE HFE |
2. T AT G I AR ST |
4. FEEEEH AT |

Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 953357173391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



ST Foa = T:m?.q;_. T _',I“-_!Fl:i & TREHT, ST o T |
e ﬁl"%(ﬁ: }-IET_W '&Tﬁamﬁ’;ﬁl

B Dk

?
|

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357173391 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TG ATAHT TSGR Ua FEwT] =op S, 2 TaT aTer: T e -

1. T sTee = e, T e & e et e |
2. e fage: T o and A |
3. Uaa*é@i*m?;wu:u:dalor.loqdﬂ‘fﬁi AT |
4. TEEHH S
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357173392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
air&inmu%g‘:ﬁr‘;,"%: =T 7

|, o e = 5 EE |

3. FEERTE A A M T |

4. oREH s 30T (product)

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357173392 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT |q-1|u;|§ =T S T 7

HE BT = I EE |

4. %@qﬁ&‘ﬁ? 3091E; (product)

L

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357173393 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



1 S THTEE:
2. TR
4. SEEIRIT
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357173393 Question Type
Correct Marks : 1 Wrong Marks : 0

ST, T aETT= o it -

1. SR
2. TRV
4, SRR

Options :

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 953357173394 Question Type
Correct Marks : 1 Wrong Marks : 0

e e e L FTeT . T T STeafia: T: T4: -
1. AT T TSRS R TESTAT = |

2. Tomred T afE: Fu SE: T |
3, TEneEeTEET T e g Sa e |
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357173394 Question Type
Correct Marks : 1 Wrong Marks : 0
T wTeRT T T ST T T -

TJH’—.'T-!TFFH& AT FETAT TETiET ‘aﬂ_%rr’r\l

1
2. Toered T ST 79T S A |
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357173395 Question Type
Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No



RIS e aTe T T STE: -
1. Tomemmoms Fuf o St |
2. TET e A T aun = e = |
3. I SR At Tt |

Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 953357173395 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
RISTReETEEae e ST TETraT: JTaRT: -

1. Tomemmom Tuft s St |

2. TET T S wETeT I T = e wa |

3

i G Bae b
\J}Hdrﬁﬂ&lﬂllHiq‘_#thylrl H40id |

4. Terg foere i gEAe vierEtd |
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357173396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR (Summative) STFe=+g Fm9 3594 3 3t 7

1. SueATes=SH (Improving achievement)

2. WEAEEE (Unit of study) TR ST STE@FE -7 <M= AT |

4. T TR AT AGET ST 99T = T |
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357173396 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR (Summative) ST+ T 3o o st 2

1. I9AregESH (Improving achisvement)

2 U@ﬁm (Unit of srud}-']}]'l'{l:‘;i BT éluemﬁumql—!mﬁ&u 0 |

3. TSR STA TR = i T ST S St GHE |

4. AT SUTEH: HI STYET ST AT 5 IS |
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357173397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



m%ﬁwﬁgﬂ' T ST SO T{:}r\mm@% &
ST 9T |

SRR ST ReEa T ST F |

TR i S e |

Options :

1.1

2.2

3.3

4.4

b, Bk

Question Number : 145 Question Id : 953357173397 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
reTferfiea ferfermeae] = Triean ST ST F, ST i -
. CHTERTHEEE T |
2. TN W ERTeaT ST T |
ST Wie SO e |
4. TEAIET SIS THETE ST |

-

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357173398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T :t-tt'llldtt:: 'emqlzr{qf{g;ig%:rdr%muh?
. FITEEEEEE A FEET ST ST wT O |
2. R FTEARET ST T ri'i{ﬂﬂhéqlr;l!illrd TTEReF: = SOHLieaT ITaaTd |
3. o= T (Pairing) #TEve (Sharing) = 3 TATH ToamERs Miotat TR AW A6 |
4. firae: oE FuEn AT I |
Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357173398 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T FETTE STy T 7 St ?

. TICTECEaEE A AT BT S o e |
2. Trafa SRS T ST -it{qﬂhsqra\l!ill—d THTETF: =T SoHA oA ITaET |
3. o= e (Pairing) AT (Sharing) = 5 TATH THIE MGt ! TR 70T 4 |

4. v oo wmEn v tETe FaeEt |
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357173399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



4. TR ;|
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357173399 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. TSR 9= |
2. SEAEen w=g
4. wfaERtEa W |

Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 953357173400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

~r = It ' 5 - S ™ ™
AH-=THER[-HE AT 3!14”:_'1!{3(13 ’EF.]:L\J;LHU;EH“?
1. 77 TTe]: ST S T A HTT: W ae T Ha |
2. oA EEpT T S A gemee ottt e s st gt |

3. T ST F A S A, it |
4. T EEE (Positive reinforcement) SeITEET FTET: HTTRET: ST R |
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 953357173400 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. T T, = o T e ST we e T et |

) T@Taﬁfﬁﬁ‘qﬁ FET: T SeOTIHT & (= e r=rreay s, simes @Jl—d I

3. T S F A S g e |

4. TFWE?W (Positive reinforcement) SEATEEY STEAT: HTHTET: a*ﬁm@ﬁ:—crl
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357173401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



o~
mquqqﬁ,ﬂs-l—

1. T wgE Ui T |
2. e g = v st |
3. wifadaeg st o T=at |
4, S T AT Tt |
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357173401 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
2. i wg = st
3. aiifeE e of =iy |
4, o v Ot Tt |
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357173402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IHCi"'itHUI{—‘MI -cIH pERE 4Irdttl|q1-|-|ﬁ_8—5 ‘Ejl‘}el-l O|U|H|Q"‘||4[ BTH_H%T It T:TE'ETFET

naﬁumﬁ%m maaﬁ:-r
?WWWI
T TSAT R W S |

= PR .Y
WA LEHHTATE 9T SEaH |

L

4, @I':JIUI-I~CI$IH1-1-.-: AT |

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357173402 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ﬁﬁm@?‘m& 4|r-1tr||q1—|-|f§‘a'£ T, m o7 = m‘ﬁ’m‘%

Uaﬁwﬁﬂ mmﬁ:r

FETT TSR TTeTE |

4, @I:IIUI-I-ClslHTh: .EI—Hd'JH_-thl

el o

Options :
1.1
2.2
3.3
4.4



